1. g’ale{s\lﬁdl o-sel uslelet uMdicll AR ollActiHizil s uReird didl 2SRl «&ldl ?
(A) uMIRML Hlel euatedl xoul vudl .
B) uHdl s Brsur 10710322 sz Sl Blosdl 10710 Hler wedl ©.
(C) dasgi [Mud alsd auadl sauui Sl 2uogeuy olasR 53 ©.
(D) das2ict v 35 ol W [Qgdla susver oozl Aadal 9.

qaiet (C) Has2iqd Fud alF wuadl saudi desedl 2u90eu% SlALsR 52 9.

o SAsZA Bl pugeny dlousiz Wl [Rad alsmEl $3 6 dd sel (orbit) séait 8. L madisd ollgR
Al dalHs s ed. a5l oo usleld udla 2R d dizdl wsy dld.
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9, dasgindl sal sedldl d-dl ulsa uel csad ©. 2l ssusiA ‘alsa el yel séay 9.

2. ciRcwiell s [Asal usele] offft Awdlof sdsgiclla cieuRel cldiddl ol ?
(A) 15 2s% 2pb 352 3pb 3d8 452 (B) 152 2s% 2pb 352 3pb 3d° 452
(C) 1s% 252 2pb 352 3p6 3410 4s! (D) 1s? 2s% 2p5 352 3pb 3d° 4s!

qaiot (B) 1s? 252 2p% 352 3p8 349 452

oy A Sdsgidla tuizel 29 siuz 152 252 2p° 352 3p8 3d10 451 9. dni d-sast Ayl oriAdl 9. 2uell seal
SASSIA d-sasHl MUl Ul s-sasMi A 9.

3. Is 1a 25 5215keil 2icuu eoidl ol Juglami ealda & :

1s- 585 2s- 585

duglani sion 20l ealda [Rar el @cidicll (o 52 8. oAl gAsglcloll VRicdoll enaon Aeil
[y &l 2a5. vNda dugldcn JuewR oo [(Atuchieil s [(Aeucll 2wkl o2l ?

(A) 1s sl 25 $&51 2UASIR 6.

(B) WML Sasgin-l ictanl g 3wl dlell auR ws 8.

(C) wRMIY, 3wardl 2uo0u% ol (Boudi SAs2i cudnl lell and €ld 8.

(D) 2s séisil SaAsgia-l A deddl Add AHAd dd 82 9 5180 5 UM Swell »idx ul A dd af

~
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cael (D) 2s sasui $aAs2ial Houed dddl Add dHit Ad 82 8 5@ & g 3wl 2d2 ua wwn Ad ad
8.

w25 sasHl SASAAl Asu Bddl HAM Al 9 v Ul sHA B2 9. AURGIE dHIRL AU ol B 519 5 URHIY
Segll wldHl awmzl al 9.

4, salls [(3ed U2 oA eldai Sedis swrRed 2u W2 AR o2l ?
(A) d 5alMidl Gau~t Al © A Al dF deed 52 9.
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(B) cllel 2oisly vl [agdla ao-dl slrelaul A4l Bl o0 qf .

(C) 3213 [BRull-l el 3l Aullvi avda dlogandl usiz Guz uaRd «el.

(D) 320ls [3el-Al muul 32l «AollHi ¢Rel alyel Rl Guz iR AN ©.

(D) Sais (Beiiu auul 5als ellul edan ayqu ool Gur i v 8,

3elly (Bl dasgiq Fal e oAl seidl U5 Guz 2R we ©. [AlkaH g51 A Asufs asdl aiw
54l

sells [Baetil opandl dlogdivi auzdal usld Guz iR Avdl 48l a4y sauis Brasi sl szal ay-l
Uslz Buz uel diRa el

gAsgicl [@AA e2ldar s [enod viei 8 2

(A) dasgid BRMIY s 9. (B) Sasgld 0l Y2l v %2y .

(C) URHIGAL HYaoeid s dils sloiy 9. (D) 3218 [BR0UUiAL 25 825 9.

(B) Sas2id g0 ~yeitu s Fay .

il wenHelll Sdsgidg en ag) ¥ g ©.

dasgiddg e = 9.1 x 103! (3w

Y2idd, 21 = 1.67 x 10727 [.u1

oilRlciiell uMelon s deeril — 2liMRAololl URHIL ofell a3 A A windl asRy B ?

(A) uMRl 2Ayel deedi-dl dpay (B) s194l% uHI-l agiue

(C) uMIYHL Sasgi, M2l el Y2l 22l (D) umRl 22Ul

(A) wrHl dyel de:adid dpead

189841 %. . A M-l dsuld vy Yo o A 2l el R Rady Rl urd wy a4 9d
Al DA AHEAE § drll wud L.

2L AL AL QR B vl 2L 5 URMIR S0 AHA UYML uH Dd adidg 8. 2L Ayl
wugHl wMa Ad adddl deridi-l vad 20U 69,

A uHIeRl sA1 AN 2eudla (Isobar) & du séara ? A —

(A) ¥ UMY UM UMY, $H15 4D Uig Dl Adl eis (mass number) 421d.

(B) AHIA SAS2IA vl qAA Ug Y2i-l Aval geloyel €.

(C) =y2ii-l vl AdlA €ld uig SAsgiardl Aval wadl A4 Sl

(D) Ml 2 Y2Ue{l Avaldl AAWN UM €ld Ug Uilxl vl ogelogel €y,

(D) Wi2irt 2 =2l vl uaoll udn dia udg wieindl dva gdlydl sia

AHeudlY drel MMl eais qud 9. (M2 + A4Sl ML) uig UMY sMisHL el 22d Ml vl
UL B A Ul AHeudld drel sdami 2ud 8.

(eL.d., [gAT*0 2 KO wyouda adl 8.)

0 40
18AI4 19K
LY, sHis = 18 YLy, sMis = 19
gulis = 40 Bulis = 40

3p saislol Asaa (radial) ollsell 2fven Secl ?
A 3 (B) 4 < 2 D1
D)y 1
H uzsg-l aolady v n-1-1 Baa s 24 (n - 1) g sl dval 838,
2n 3p sfsl M2 Wud Al dvw = n-1-1
=3-1-1=1
4d szisHi sieila sl 2iven Sedl ?
A 4 B) 3 < 2 D1
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2ol sas (n = 4) v [ = 2 (d-58s5 Hi2)

ooosielly <l deal = 2

#Asgliololl [oraad 1ol 2 olAciptiell s2u1 sRe) vaciER 8 ?

(A) vidl (Pauli’s Exclusion)-il M348 [Rigid (B) sl x1ABddIAl [Ran
(C) g3l HenH sl [Hyu (D) 2165638 (Aufbau)-il [Huu

B) s1droeil ARARdA Ran

a2 eldaodl (cdllds@g) 192740 cule] & SAsgiad AU @A 2 s A ol ASE 456l 53
astdl -l

h
sif@dly wlsa Ax-Ap 2 i

=~ Y

etonodl Rgidrl YEd aEHa »d w & 3 d SAs2iA Uldirl Fal3d wolHl eiuel s3dl Al wied Sdsgiq
e iy Yo el ¥ (Rl v eHer 539 4 Hld ka4l

3y sami 28dl saislell sa ivan Sedl &A ?

A) 2 (B) 4 <9 (D) 3

9

n sal (shel)dl 2éal ddsgi-dl dva = n?

sl sl sl saslil g4 deal = (3)2 = 9

szisla sieila dopiicl Aol Gu VLR AN & ?

A 1 B) n 24 [ (C) n i m (D) n ¢ s

Aa) 1

sasly siella damid mvr =%1/l (I+1)

ved 5 siefly dovudd yeu Wil I BUR R AN 9. Tq e 0l (n- Dl wuled gl 6.
(A) w2 1 = 0 €l Ul odliasan (s8s) s €lu 9, U 585 SLAUSIR .

(B) i I =1 €lu R slasan p €l §. sasdl sz 3aeld (dumb bell) %<l €ly 8.
(C) swe [ = 2 &ld w4 s85 d sld AR 545 [B-56id (double dumb bell) 2us12 4z1d 6.

(D) 2k 1 = 3 &id AR olasal () €l 8. su-l 2usR d4e (compilcated) €lu 9.

sdlRetoll A wralis) . 37Cl s1a 35Cl oido] u2A2A wsiedla e 355 8. vu el 8 3 37Cl
a 35Clell sa el ASA GlolA ?

A) 1:2 B) 1:1 (C) 1:3 (D) 3:1

Cy1:3

sl 2ifhs wsuedla en (35.5) suley 9. ddl =1 ol 53 wsa 5 uewd 37C1L wa 35C1 6i4 1:3
JAlRML ©I%R Sld 9.

, 3x35)+(1x 37
s Cld uua yHedly e = ( ) 4( )
=355
A viNa vAsict NAssiiell s NAsg Wie vAsidla dMsaeil g2 B ?
(A) Cr3*, Fe3* (B) Fe3*, Mn?* (C) Fe?*, Co3+ (D) Sc3+, Cr3+

(B) F93+, Mn2+
24Cr = [Ar]3d°, 45!, ,Cr3* = [Ar]3d3

sbe = [Ar|3d8, 452, Fed* = [Ar]3d°



,sMn = [Ar|3d°, 452, Mn?* = |Ar]3d°
,,Co = [Ar]3d7, 452 ,,Co3* = [Ar]3d®
,15¢ = [Ar]3dl, 452 ,,Sc3 = [An]
- wd] Fedt wd Mn?t dHid ddsgiHly oiwirel yid 8.
(heFe?) = [Ar]3d®
(,sMn?*) = [Ar|3d°
15 iifSuvel uiepi 8cl #AsZicl i ollAciptiel s [@euc AR B ?
(A) 25 21 2p sasul SAs2A A ISEERIM] 9.
(B) 25 s@iseil OAsgld v 2p sasl SAsgd uHAlsds 9.
(C) 1s saseil HAs2I-, Zo &L 25 stsU BREDRE Zo 4 ¥ed o 9.
(D) 2s sasHl el 6l SAsi UM my sled vi5 © uig [Azg sl WA ©.

oatet (D) 2s stisHi Wan 6L SA52I wH m selieH ¥is 8 ulg [Age dsu 4ud 8.

- (A) 25 A 2p seLsHL RSl SASZIL UM RS AR HuAdL el 2l 25 sés el 2p sl Z, ! el
WA A2l MA 9. 2 (A 2wy el

m (B} 2s sasdl ulza 2p sasdl uls srdi widl @9
T CCTE BT D

™ (C) Ls s85 W2 Zyp# 25 S5 Zyg wiell 20 [ g ell.
-~ I . AN N 1 - 1 = [
(D) 25 sasl oL SASEIHY Hed wed 5 omg = +5 Wi -2 9. el v Qs e 9.

16. olRcll gl adN Wil Ol v abdi 1A AR Slell ddadend agau HnA ?
(A) HAs2i (B) o-52 (He2*) (C) =2l (D) Hei-

qaiel (B) o-se (He?")
m g-6lodl (de Broglie) udlsaa 318,

L h
daEeys A = —
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AeIel S0 AHIA Ol HuAdL Sld 2@ 5 dAsgiA, WLld, Ygid A o sell-dl disidens ADCE
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n
o Wl B o= wAALS B, 4o d0d, g Hed U A4 Y dY disldensSd Yl 42 9. dHY s dde sy
25 S1d dl ddelSd, Hed df 9. 2l g dME a-se (He?*) ay ea qud . 202 d-l daidons agay

Sy, 9.



